Source (3000)0 +(3050)7 +(3065)7 +(3000)” (3119)° (3327)7

[MeV, MeV] [m, T [m, T] [m, T [m, T] [m T] [m, T
Thres triceture +0.0L 41231 (#0.00 +0.00  £0.01 ~40.00)  [+0.0L +u 121 [+0.06 +0.00 +0.01  +L1.71
Threshold structure B N 4 I P B i P 4 O s . O A A 1 [Zo15: o0
. ; +0.04  +0.04]  [+0.00 +0.00] [+0.01 +0.03] [+0.01 +0.22] [+0.01 +0.07 +0.00  +0.98
feed down from 2(3327) To00r To00] [Fooor Toor] [Zoos ool [Foo0s 7000] [X5:50, 300l (5%, T000
S bine +0.02 +0.01)  [+0.02 +0.12] [+0.00 +0.08] [+0.01 +0.20] [+0.00 +0.40 +0.00  +0.00
Fit bias —0.007 70.00] [7 .01 7000] Lo.nm —0.00. Ln.om 7000] [70027 7000] Ln.m —0.70.
o . +0.01 40017  [+0.01 +0.01] [+0.01 +0.02] [+0.01 +0.05] [+0.01 +0.06 +0.01  +0.01
Spin and radius oo Zoo)  [Foors Toml  [Foors Toor]  [Foors Zootl  [Foors Tooil [T002 o060
. +0.04  +0.98 +0.001  [+0.00  +0.00]  [+0.00 +0.001  [+0.00 +0.00 +0.00  +12.9
Background To.00s T0.00) [ 018l [Fosor To2o]  [Toos, T1ss) [ 021> T0.60) [F124: To%o
— +0.00  +0.06 +0.40 +0.08 +£0.01  +0.37 +0.00  +0.00 +0.07  +1.16
Bin size —0.107 70.04] [ 7001] » —0.07 Ln 057 7009] [ 0.067 70m] 1000 Lo
Momentum calibration [£0.01, -] -] -] [£0.04, -] [£0.05, -] [£0.11, -]
Energy loss [+0.04, -] -] [£0.04, -] [£0.04, -] [£0.04, -] [£0.04, -]
. . : +0.00  +0.20 +0.48]  [+0.01 +0.36] [+0.00 +0.36] [+0.03 +0.80 +0.02 +0.27
Simulation/Data difference | [Toor, To22]  [Tooas Towrl  [Tooo: Zos)  [Foozs “o2e]  [Toi00s Tosol [To0s: To2s
Total +0.07 +1.59 +0.06 +0.6-’l] [H).OG +0. 33] [+o,os +0.61 +0.09 +0.90] +0.14 +13.1
otal [T013:To20 —0.07)-0.72 —0.06)-0.47 ~0.10)-1.62 —0.23-1.05 [T228. %056




